1.  Fill in the two way table below based on the information given.   
 
 [image: https://dryuc24b85zbr.cloudfront.net/tes/resources/6367351/image?width=500&height=500&version=1413130895000]
 
Fill in the Table

Part A: Of the number of children who were surveyed, how many prefer films?  Write your answer as quantity, a fraction and a percent. 
 
 
 
2. A certain cell phone company charges $75 a month for their calling and texting plus an additional $0.15 per hour for data usage. If “x” represents the total number of hours of data used during any given month and “y” represents the cost of the bill for that month, find the following: 
 
 
Part A: What is the slope of the line and what does it represent?  
 
 
 
 
Part B: If no data was used during a particular month, how much is the bill?  
 
 
 
 
Part C:  Find the equation of the line.   
 
 
 
 
Part D:  Find the cost of a bill during a month where 25 hours of data were used.  
 
 
 
 
3.  The scatter plot shows the relationship between the age of a reader and the time, in hours, the reader spends each month. [image: https://ltcconline.net/greenl/courses/201/regression/scatte5.gif]Hours Reading

 
Part A: Draw a line of best fit (using a ruler).  What type of association is shown between the age of the reader and hours spent reading per month?  
 
 
 
[bookmark: _GoBack]Part B: Write an equation (in slope intercept form) that would best represent the data shown in the scatter plot.  Describe what the slope and y-intercept represent in the context of this situation.   
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56 children were asked to pick from three
hobbies which they would prefer to do - fill in the
missing values

Computer | Watch films|  Read Total
Games

Girls s 22

Boys 1

Total 2

10
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